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For 1-7, use the figure at right.

1. Name a point collinear with:

a. X W b.s T R ﬂ

% Pn 18-+wo points are Coll noar f N
2. Name a line coplanar with: . . » o
a WX yg b ar Qp ¢ VR ULV X W

)LC(/\\{ line fS CC’,DIC{/\‘N’ \w\a(?'fl/l__({f S,((’_VU#' Uﬁ_____

3. Find the intersection of the lines: ot V
a. XU&QU b. TS&SR c. TQ&ST | :
U S T
*Lines intersect ot 6L fo,'n/f)g .

4. Find the intersection of the planes:

a. UQT&SRT b. XWV & QRV c. WVS & XTS |
or £ plins U w> |
ne { ' f - v . ¥a
5. Find a line parallel to: NL"/ Sect in e line * }.f - T S
a. WX b. QT c. VR / T
—_— — — Y S
. v al\SVJ(V
1 M A R
uv RS K povy | |
6. Find a line skew to:
a. WX b. QT c. VR \/araa/
UQ uv K
7. Find a plane parallel to: i )
a.uar VRS b.Xxwv TSR  cx1s UWQRR
8. Atright, name a ray opposite to:
—> ‘% > ) '_%W 'V\_NN‘
a. SR S T_ b, TW T_S R SWM\""NN
Wi \\\\\\\\\\ .
9. Find the value of x in each of the figures below.
a. o . . b. . . . C. o - .
G 2x+3 H  4x+1 J A 4x+4 g Sx—-4 ¢ A 7x+4 Q 2x X
Gl=46 AC=81 AX =22

-7 - s

Qx4 3 4+ Yx ) = Y L/X+Lf‘ +Syv-Y=§1 .
Lt =qb I = €| Tx = 18
é)(:‘(z»



10. Find the indicated values for each midpoint problem below.

a. Ris the midpoint of QS b. G is the midpoint of DH c. Ris the midpoint of OS .
30 X '
X
J K Ky
Q@ 5 s .
0S =30
x=_ 50
11. Find the value of the indicated angle.
a. ZRPS =87° b.
H X f 3*"5 ,‘
W
“,@“
§7-37 2 15+3°%
P o _
Z8PT=_50 /X¥7=_ SF

12. Find the value of x in each of the figures below.

a. Ix 46+ 3% 92180 b /ABC=68 .
g e A X4 By 420 % |F0
¢ Sx + 15 =1%o . a iy = oo
T 3x4+L+Sx-2:L x =
%_x+6 3x+9 . SX Z16S ' Sx—zc 2 X 3x + 20
 — o B & > ' ‘ “‘_/fﬂ -
¢ Sxiyz (¥ veor

X = ?)5 xsz_ gk‘ﬁ’({ x=_L/_O_

13. Classify Z1 & £2 as acute, obtuse, right, or straight.

a. b. C.
A . >
£2
£1 /1
L1\ 2
L2 300\ 30"
] >
21: feeuk 2 21: 0 LA 2 Deud o
42:]’2—[?\'\“‘ £2: aCMjrz, 22: Acat e
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14. Which angle pair terms (complementary, supplementary, con ruent, vertical, and/or adjacent)
best fit £1 & £2 in the figures below. Each figure may have more than one answer. “L
rua

a.(t. .. i 1 i b. . c. Sir ¢
(/oma {“Q'“+;Com{)l'm' Suﬂo,’ 0(9 JJM avx(' S ﬁD C‘)/\) l
— ) ﬂ VZ Y h( &
e 7 A
45°
/1 £2
£1 o« —o . e < £1 _| )
B D C /2
A 4
A\ 4
15. In each conditional, underline the hypothesis once and the conclusion twice
a. If you get hitin b. If you score a TD, your team c. Angles are supplementary if
dodgeball, then you are gets six points. - ~they add up 10 180 .
youare ;
Qit'
: L Sewitely lr\ L e
16. Find the conve f each conditional:
c. If you go to college, you'll

b. if students study hard for
exams, then their grades

a1F S’\'u\coﬂm‘k& act ImpIrogeS U\c’%’\& Jf["j('g

Lra%? -H,\W\ ‘-H/\W lmFrO\/Q- 'M/\?V\ ‘Q%;
[N fwl' MOOR . S\,W)\g \/\6rd2 EvrQ)(ams

a. If there is a full moon,
then students act crazy.

earn more money.

TF \[(,UUI ocyn thofe

h’\w\Q\{l*-u/U)\/\ \/OV\.
5}{" bo C@chafz

17. Use the Law of Detachment to draw a conclusion. If not possible, write not possible
c. If two lines are perpendicular,

a. Amusement parks are b. If you sink a 3-pointer, you
score three points. Jim they form a 90°angle. Lines

fun. Cedar Pointis an
amusement park. scored 3 points. AB and CD are perpendicular.
[/i'/\ FAY AB A D ’ﬁ'ﬁ’h

Cedlar {)uir\" Mot pessible
Q QOG ar\ali.

i< ;w\

18. Use the Law of Syllogism to draw a conclusion. If not possible, write not possible
a. If a number is divisible by b. If you live in Detroit, you live c. If-atriangle-has 3-equalsidaes,
4, it’s divisible by 2. Ifa in MI. If you live in Roseville, then it has 3 equal angles. If
a triangle is equilateral, then

number is divisible by 2, you live in MI.
then it is even. Mo + 53 SpL{é Jt-has.3 equal-sides.
1S )O ir a i ,;mcdla, 1S

TF o /\Uw“)o/?”
| Hhin Q/()uulajr?«m' Hhen

&l\/ngi G &
e S even. i+ l/\m 2 ﬁ%w«[

“



19. Determine if the following statements can be written as a biconditional statement. Explain your

answer.
a. Congruent segments are b. To play the sport of baseball c. Adogis an animal that has
segments that are equal you need a bat and a ball. whiskers. .
i measure. Cof\éuwm( o — Converie No — ConVrSE (3
h A ﬂ . - N R (
and Converse ore s flse s Conl le oo &

bolhy frag! Play  Sofdball. hes  ohiskers.

Tnr———
20. Find the value of x and determine what type of angles are presented on each figure (AIA, AEA,
SSIA, SSEA, or Corresponding).

x= :)(2“9
ATA

21. Use the figure to the right to determine which angle pairs with the given angle to make the given

Cch

condition.
a. SSEA 7 b. AEA /8
/5 5 \
Y
%2
c. Corresponding Z6 d. SSIA 44?; \.
LY L N\
e. AlA /1 f. Vertical £2

A £5
22. Find the value of x in each figure below.

a. b. . Y c. ,
Sseaziso  ATAE CA e

2x 5x-30 >l4x - 31
30




For numbers 23-24, use the diagram at the right to answer the s ¢

questions.

23. Which two lines must be parallel if the following 1 /12 11 /10
< 3713 1579 - m
statements are true?
. 3/14 15/8
a. L12=./14 b, /12+4./11=180" c. £13=z /11 * 7% W 0

i 1\ D S+ St

24. Which two lines must be parallel if the following

statements are true?

a. £L5= /7 b. £2+/3=180° c./£13= /3
S+ MO Mo

25. Find the value ;)f each variable in each triangle. X* Hy +z7 o= [PO
a. 4 ‘(‘J _r_))
Yo -6 (-3 g - 90
ax 47" L{é X
g5 e
X= - X= L{ 6 y=

26. Classify each triangle by its side lengths (scalene, |sosceles or equllateral) and by its angle
measures (acute, right or obtuse).

* > Qiij Tsolceles Aot Tsescele

- 40 e
//’/ 12* e Ry 71 s“f d 53;\\,‘ .
fd%g: prit R / w’f :%‘\_, 1
59 ~ \'s
s 89"
7.1

27. Classify each triangle by its side lengths (scalene, isosceles, or equilateral) and by its angle
measures (acute, right or obtuse).

a. b. _ C. A

;—|——-—§———:—‘7 ‘:\"\ N Y
Ty - N
'\,&v f*’f 1‘&“ Mx%»'\ E \g‘\\
= ‘a‘\‘ )‘}"v \,% ”«.,\‘& . \\
Y, s ’j‘ S‘____é__f__l". iw '\
Avd M

£ ‘Z)m(lajg(wfml

(Egm;anﬁw’w)



28. Use the Triangle Midsegment Theorem to find the value of x in each triangle.

1o t _2__ x+5 225 x=l% -

I
Pl
+
AN
\
~o
o~

29. List the sides of the triangle from least to greatest. L J
C M g )
50° ..52" 0
" \ 1 28°
5 70°__ 80 . y i b B X
R B, Ac my YL mL JO)L&)LD L\ )
30. List the angles of the triangle from least to greatest. D v
A 12in. - B
26 om 11 om 17.em gin. 131n.
14in. 11in.
c 30 cm F 13 om E Y 16 in X
LA LC, LD LX,L%,LM LE LDLF 2X, LY, LV

31. Two side lengths of a triangle are given. Find the range of possible lengths for the third side. (5-5)
4,7 19, 25 11,13 5, 44

2 LMY Za2d 28.dT

—_—

32. Write a congruence statement for each pair of congruent triangles.

A J b. H 0
G\—\:ﬁ\\\ls{\\/\\
. . \H\R

g KD - n ,
e Wil NOHFEAIRL AY2s YAPaN

33. If ARVL 2 AHGS, find:

a. Sides including ZG Dm
CH,GS N2 AV S A ZA

a.

C. Slde included by ZR& LV d. Angle included by HG &HS

v Z H

34. In the triangles at right, what else would be needed to prove the trlangles congruent by:

a. SSS b. SAS c. ASA d. AAS
T Biila LeWOX LefL? ]j\
- z

————

Yz

o
\\t \\Z

kL



35. Wthh postulate proves each palr of trrangles congruent? i not possable write not possible.

SN et

sAs <SS XC ol

36. Complete each proof PogS:

a. Given: 4B = DE & b. Given: DE = EF & D\ . ___F
LA=/E ZDEG= LFEG c

Prove: AACB = AECD
Prove: ADEG = AFEG ¢

Statement Reason Statement Reason

1 A—ggﬁ-é 1. Gruin L Ng E’Pf 1'@7}\/@/\

2. /A M LE 2, 6/.\/“\ ZL/)E(% !\;l Z—FEC::} 2. G}){,.\N"\

3.LBANLDE |3V, AT, L N E(:a 3. ReCley ur

“Aacg ey |+ AAS “ADEG YNFEG |+ SAS

¢. Given: Qis the midpoint of §T d. Given: /LMO = /NMO &

ST bisects DM M is the midpoint of ZN

Prove: ADSQ = AMTQ Prove: ALOM = ANOM

Statement Reason
1. jShe midpoint of g7 1. g“ VN Statement Reason
2 SQ N ‘1:5 2. Definition of Midpoint 1. ZLMO= £NMO 1. Given
3. ST bisects DM 3. @“ NTEN 2. Misthe midpoint of Ly | 2. Given
4. DQ =0M alef £ B/S;;C‘{' 3. Lf\—% N m 3. DeF L€ i &FOM
5. ZDQS = /MQT s. V. AT, 4 O ¥ Om |* foFlexive
6. ADSQ = AMTO 6. SAS 5. ALOM = ANOM 5. © A S




37. Find the value of each variable in the triangles below:
a. b. c.

k 4
] , 0
_6?/ _ 6(/( N ?/O 0
X= y= ‘= CS O v ‘ ’L
38 Find the value of each variable in the triangles below:
a. b. .
L
AN \ v [/
‘fy X 'x,,k{ :;l\ o, ".,y‘

f ‘ ﬂx\%‘ ("g’:‘ﬂ:'\‘ 1 1 %

(1 S 7 \\ L™,

] : -« . ¢ -

J 1 S 7 X, /
‘;ﬁ \\:&, .‘:"}. .\ ‘_\‘ ;i ) 7
’ /527 52°\ o, 4D,
-~ R - i.} N . v,“f,«
\‘RS? ? 57/ %\\iuy U()(/
Y £
A\ ] .,“’}' ‘x’ 1,~
LA \b
NE
%’\ﬁf X
’ o



